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*et t gfi s{c

Attempt all the five
Unit is compulsory.

you

1. Mq 6rd-mq ri Eqi sTrqrq t ? erffieryr
EqtErH cqrfrftq frfr.t ffiI I za

What do you mean by Linear Programming ? Explain
Maximisation problem with the help of geometric
method. I

qPrqr

(or)
sflr{{ .n-sq t qq-r sTl{rq' t z ate-giT-trs sfiTqrr qcri.

20

mean by Production Function ? Explain
Production Function.

(A-3s) P. T. O.

I
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qor{-z
(uNrT-2)

2. grftwq-{ f,eil lg.'6tr*rq 6-1 3{ef frfu\ neIT qTtr6

M-sq,t $r+1 sqrfrFl-in e-dr{q I 20

Write the meaning of correlation and regression and

explain their utility in Economic Analysis'

t €iprqf

(or)

Frqfrfun ry t fif ry'* {rfi-m-wl sro o1tuq :

20
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Calculate the both regression equations from the

following data:
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3. (ei) gur-$Rn-€i 6T sqr sIQf t ? q-.$ flQn oTfRro

Tq-{{q-q { er<q rfrrsq I I
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What is meant by association ? Bringout the

difference between total and partial association'

(q) Frlftfoa ofiqtS t eTn-ffr $i tqlqqffi d ftq
rJui-lrq-.rT 5r qftfi6-{ etfuq : 12

EA +rSr sir{ics"I 200

qrHq u;rcicq 40

tlt-qtTg qT{i{ilr 12

qteri T4 tttqrlTt q-{-{i@r 4

From the following data, calculate the coefficient of
associ ation between literacy and unemployment :

Total adult PoPulation 200

Literate PoPulation 40

UnemPloYed PoPulation lZ

Literate and unemployed population 4

stsrst

(oi
Br-ifufua offi d oTiqn q{ 28 s{ ?ht sTIg d tdq

qr{ o'} e'{Fft ei-<R tfr gm yzF"l'{1T gro *1fr\ : zo

ilg .y.hf qFI

25

30

35

40
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23

26

30

35

42

51

(A-33) (A-33) P. T. O.
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From the following data' estimate the value of y for the

age 28 bY Newton's method of Advancing Differences :

Wr{-+
(UNrT-4)

4. ord 8tft rnlifr1 t sTIq Ezr qqg,.i t ? 6rf, *"t {ffi d

dq-{6 trd o\{-ot{ t t ? q-GII fiffrq I 20

What do you understand by Time Series Data ? What are

the components of time series data ? Discuss'

qq-Er

(or)

(s) q{q s€rlrqfi cftHoT f,edr (€ BffiI"qf,T q€rqq ffi

a-rilt?qrqsigql I

What are Time Reversal test and Factor Reversal

test ? Describe.
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(e) Mtfuo offi t fi-T qffq s-f, qw srd qifts :

12

yearly moving average from the

q{ TTf,ITffT
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I
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t4
25

110

t04

98

105

15

Year Production

r98i

1982

1983

1984

1985

1986

1987

1988

1989

1990

110

125

(A-33)
(A-33) P. T. O.

Calculate the three

following data :

Value ofY
Age

23

26

30

35

42

51

25

30

35

40

45

50
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Distinguish between a census and sampling investigation

and discuss their merits and demerits.

stersl

E-d-d

20

q-fi' qlu * ro qftn qrEfrs-o r6q rt d Te I vrfrt
20rdtdt'

63, 63, 66, 57, 68, 69,',V 0, 70, 7 l, 7 I

sa ffi at ssreqr t gs EsTq fr1, fu q'rrq it S-fld

fu 66 qa t, aro +tfuq I

Note : Table value of 'r' for d. f.: 09, f.s5 :2.262-

Ten individuals are chosen at random from a universe

(population) andtheirheights are found to be in inches :

63, 63, 66, 57, 68, 69, 70, 70, 7 l, 7 r

In the light of" these data, find the suggestion that the

mean height in.the universe is 66 inches.

Note : Table value of 'r' for d. f. = 09, f.s5 :2.262.

DD-2373 1.,500

(A-33)


